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AL 5 calaal)
Vectors Silgadiall
Vector addition and subtraction Cilgadall 7 sl g aan o3

A+B = (A, +By,A,+B,A, +B,)
A=3i+2j—k, B=5i+3j+9k
A+ B =8i+5j+8k

Multiplication by scalar 49000 Ay dadal) i o
A=Ad0+A,j+ Ak x5
5A = 54,1+ 5A,j + 54,k

The commutative law Jalll & sild <3

-

A+B=B+A
AB=B.A
The associative law &Sl O o2

q(A+B) =qA+qB

The cross product A cpall @
AxB, A=Ad+AJ+Ak z
B =B,i+Byj + B,k
|tk
AxB=|A, A, A4,
B, B, B, .

AxB =1(A,B, — A,B,) — j(AB, — A,B,) + k(AB, — A,B,)
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Vector Multiplication <lgaiadl o ua

Sleaiall i e Ole 5 il
product Scalar edl oy puall Y gl
—- - —- - = .
dpaall dagdll g b 3 AdotB 1A s A-B eslh B ASB  (eaie ¥ el ol
O ol Laginn 35 semnall @ g0 31 Al s B Cagaiall (o jliEe O g Jaala] Jualal

—

A-B=ABcosO

oo gl ) yal 2
1-A-B=AB when 6=0

— —»

2-A-B=0 when 6 =90°

— —

3- A-B=B A

4-i-i=j-j=k-k=

5-i-j=i-k=j-k=0

6- A B = AxBx +AyBy + AzBz

Where ZA=iAx+jAy+kAz
B=- iBx+jBy+kBz

ALY e pdll -; Ll

— “— — —> — —> )
Gshu sAcrossB b 5A XB el A B (seaiall el ol Juala S
O ) Lagi 3 gemndll A gl 311 Cn A gl e G Jualad dpnsall il

“AXB=ABsin®
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B

1- A XB= -BXA

— —» ,
2- AXB=0 when 8 =180
— — .
3- AXB=AB when 6=90
4- ixi=jxj=kxk=0

5- ixj=Kk

6- jxk=i

7- Kxi=j

dalad) a glal) and [Afas — Al 4y 3l 448

Vector Multiplication <lgaiall o wa

P call pal 55

8- AXB=(AyB;—AzBy)i+(AzBx—AxBz)j+(AxBy—Ay By )k

A ghaal 35k e oDel gl slal Sy
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_:\ JCN
Olgadiall Lual s 13
—
A=i+3j-2k
—
=3i-2j+k
)

. L. A —, —> > —> —p —> —> —>
Ogadiall G sl gl 9 AXxB ¢« ALB <« A-B <« A+B

\ 1|

1. A+B = (i+3j-2K )+ (Bi—2j+K) = 4i+]-k
— —>

2. A-B= (i+3j—2K)-(3i—2j+k)=-2i + 5j - 3k
— —>

3- A .B=(i+3j—2k).(3i—2j+k)
H.W

(1.3i)+(3j.2j)+(-2k.k)=3—-6-2

CUln

—
A.B =-5

—_— —

4- AXB =(i+3]—-2k) X 3i—-2j+k)

4- AXB =(i+3j—2k)X (3i—2j+k)

i j k

1 3 -2|= i(3—4)+j(-6-1)+k(-2-9)
3 -2 1

— —»

AXB=-i-7j— 11k

10
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—- —

5- A . B = AB cos ©
cosB=(K-B}IAB —
—_— —
© =cos ' [(A.B)/AB]
A=(Ax2+Ay2+A22 }1f2
B=(Bx2+By2+Bzz }1;2

B =110.6"
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